
3 %   van   95000     =     

1 %   van   25000     =     

3 %   van   85000     =     

5 %   van   13000     =     

9 %   van   5300     =     

0 %   van   103     =     

1 %   van   793     =     

4 %   van   753     =     

5 %   van   834     =     

3 %   van   387     =     

45 %   van   58     =     

52 %   van   5     =     

88 %   van   34     =     

86 %   van   1,5     =     

56 %   van   6,6     =     



3 %   van   95000     =     3 x 950                     ( =   2850 )

1 %   van   25000     =     1 x 250                     ( =   250 )

3 %   van   85000     =     3 x 850                     ( =   2550 )

5 %   van   13000     =     5 x 130                     ( =   650 )

9 %   van   5300     =     9 x 53                     ( =   477 )

0 %   van   103     =     0 x 1,03                     ( =   0 )

1 %   van   793     =     1 x 7,93                     ( =   7,93 )

4 %   van   753     =     4 x 7,53                     ( =   30,12 )

5 %   van   834     =     5 x 8,34                     ( =   41,7 )

3 %   van   387     =     3 x 3,87                     ( =   11,61 )

45 %   van   58     =     45 x 0,58                     ( =   26,1 )

52 %   van   5     =     52 x 0,05                     ( =   2,6 )

88 %   van   34     =     88 x 0,34                     ( =   29,92 )

86 %   van   1,5     =     86 x 0,015                     ( =   1,29 )

56 %   van   6,6     =     56 x 0,066                     ( =   3,696 )


